Addition and subtraction from a single unknown
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k+3=20
t+8=23
u+9=79
8+y=83
7+r=29
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w—-18=9
y—-8=10
n-12=1
y+3=2
w+15=8

Multiplication or Division with a single unknown
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4_9
4
t_g
5
Y—5
8
-6
9

Make k the subject of these equations
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4k = 20t
5k = 45t
7k = 28t
8k = 56t
11k = 55¢

5k + 6 =51t

3k +8 =32t
Tk+w=t
dk+q=t+t+t
5k + 3w =5t
11k + 5w =7t
S5k+4w =7t—w
8k + 4w = 3t — 2w
3k+r=7t—k
3k+w=3t—k
7k + 6w =7t — 2k
3k+7w=>5t—-k
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6t=18
9y = 63
4c=20

3t=18
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11 g+9=-6
12 h+27=-5
13 w-12=6
14 h-7=-9
15 v+12=9

10 8y =32
11 5w =30
12 9k =-45
13 7k =-28
14 4w =1
15 6g=3

E=t+e

4

3k

- = 7t—y

S5k—w=7t—k

7k —3r =7t + 4k
2k +r =7t + 3k

2k+rs=5k—£

y=>5k+12
y =4k + 4x
y =5k —6t
y =3k —8t
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Y=7

_ 5k+1
Y="%

_ 3x+4k

- w
y=9(k+1t)

y+w=3(k+2w)
y—8=52k+e)
y+ 12t = 53k + 12¢)



